\

=\ = Exploded Connection Diagrams
VIEWRAIL

3 YouTube

Visit our YouTube channel to
watch helpful installation videos

youtube.com/viewrail

© 2020 VIEWRAIL Al Rights Reserved - (866) 261-8013 - viewrail.com - For Helpful Tutorials go to www.youtube.com/viewrail 1



Stringer Foot Plate Exploded Connection (Wood)

\ \ | \ )
: 1/2"-13 x 2" FHCS MS Black Oxide Steel

&ﬂ‘ 1/2" USS Flat Washer Zin 1/2"-13 x 2" FHCS MS 188 Stainless Steel

| ORQUE

1/2"-6 x 5" Grade A Zinc Finish Hex Head Lag Screw

Hardware lllustrations to Scale

© 2020 VIEWRAIL Al Rights Reserved - (866) 261-8013 - viewrail.com - For Helpful Tutorials go to www.youtube.com/viewrail 2



Stringer Foot Plate Exploded Connection (Concrete)

1/2"-13 x 2" FHCS MS Black Oxide Steel

@ 1/2"-13 x 2" FHCS MS 188 Stainless Steel
f ( / / V‘ T ——
il I

1/2" USS Flat Washer Zinc Wedge Anchor - 1/2" x 3-3/4" 304 Stainless

© 2020 VIEWRAIL Al Rights Reserved - (866) 261-8013 - viewrail.com - For Helpful Tutorials go to www.youtube.com/viewrail 3



Vertical Header Plate Exploded Connection (WWood)

1/2" - Grade 8 Yellow Zinc Finish
NE Steel Nylon Insert Lock Nut

1/2"-13 x 2" FHCS MS Black Oxide Steel
1/2"-13 x 2" FHCS MS 188 Stainless Steel

701bft 1/2" USS Flat Washer Zinc
ORQUE

1/2"-6 x 3-1/2" HHLS Grade A Zinc Finish Steel

1/2" - 13 x 8" SAE J429 Grade 8 Yellow Zinc Finish Steel Tap Bolt

C

Hardware Illustrations to Scale

© 2020 VIEWRAIL Al Rights Reserved - (866) 261-8013 - viewrail.com - For Helpful Tutorials go to www.youtube.com/viewrail 4



Vertical Header Plate Exploded Connection (Concrete)




Wall Plate Exploded Connection (Wood)

1/2"-13 x 2" FHCS MS Black Oxide Steel

m 1/2"-13 x 2" FHCS MS 188 Stainless Steel
ORQUE

1/2"-6 x 3-1/2" HHLS Grade A Zinc Finish Steel 1/2" USS Flat Washer Zinc

Hardware Illustrations to Scale

© 2020 VIEWRAIL Al Rights Reserved - (866) 261-8013 - viewrail.com - For Helpful Tutorials go to www.youtube.com/viewrail 6



Wall Plate Exploded Connection (Concrete)




Stringer to Stringer Exploded Connection

@ 701Ibft
@: ORQUE

1/2"-13 x 2" HHFB MB Zinc Plated Steel
1/2"-13 x 2" HHFB MB 188 Stainless Steel

Hardware Illustrations to Scale

© 2020 VIEWRAIL Al Rights Reserved - (866) 261-8013 - viewrail.com - For Helpful Tutorials go to www.youtube.com/viewrail 8



Horizontal Brace Exploded Connection

~
g
~

@ 701bft
ORQUE

L

1/2"-13 x 2" FHCS MS Black Oxide Steel 1/2" - 13 x 1" Grade 8 Flange Bolt w/ Thread - Lock Patch
1/2"-13 x 2" FHCS MS 188 Stainless Steel 1/2"-13 x 1" HHFB MB 188 Stainless Steel

Hardware Illustrations to Scale

© 2020 VIEWRAIL Al Rights Reserved - (866) 261-8013 - viewrail.com - For Helpful Tutorials go to www.youtube.com/viewrail 9



Support Column Foot Exploded Connection (Wood)

1/2"-13 x 2" FHCS MS Black Oxide Steel 1/2" USS Flat Washer Zinc

1/2"-13 x 2" FHCS MS 188 Stainless Steel
o

L

1/2"-6 x 5" Grade A Zinc Finish Hex Head Lag Screw

/

Hardware Illustrations to Scale

© 2020 VIEWRAIL Al Rights Reserved - (866) 261-8013 - viewrail.com - For Helpful Tutorials go to www.youtube.com/viewrail 10



Support Column Foot Exploded Connection (Concrete)

1/2"-13 x 2" FHCS MS Black Oxide Steel
1/2"-13 x 2" FHCS MS 188 Stainless Steel

1/2" USS Flat Washer Zinc Wedge Anchor - 1/2" x 3-3/4" 304 Stainless

© 2020 VIEWRAIL Al Rights Reserved - (866) 261-8013 - viewrail.com - For Helpful Tutorials go to www.youtube.com/viewrail 11



Support Column Top Plate Exploded Connection

&

ORQUE

1/2"-13 x 2" FHCS MS Black Oxide Steel 1/2" - 13 x 1" Grade 8 Flange Bolt w/ Thread - Lock Patch
1/2"-13 x 2" FHCS MS 188 Stainless Steel 1/2"-13 x 1" HHFB MB 188 Stainless Steel

lustrations to Scale

© 2020 VIEWRAIL Al Rights Reserved - (866) 261-8013 - viewrail.com - For Helpful Tutorials go to www.youtube.com/viewrail 12



Tread Bracket Exploded Connection

@© 701bft
ORQUE
bamp>

1/2" - 13 x 1" Grade 8 Flange Bolt w/ Thread - Lock Patch 1/4" x 1/2" Christmas Tree Rivet Plastic
1/2"-13 x 1" HHFB MB 188 Stainless Steel

Hardware Illustrations to Scale

© 2020 VIEWRAIL Al Rights Reserved - (866) 261-8013 - viewrail.com - For Helpful Tutorials go to www.youtube.com/viewrail 13



First Tread Exploded Connection

5/16"-18 x 1" Flat Head Machine Screw Black Oxide
5/16"-18 x 1" Flat Head Cap Machine Screw Stainless Steel

Hardware Illustrations to Scale

© 2020 VIEWRAIL Al Rights Reserved - (866) 261-8013 - viewrail.com - For Helpful Tutorials go to www.youtube.com/viewrail 14



First Tread Exploded Connection

L1ie;

5/16"-18 x 2 1/2" Hanger BT Zinc Finish Steel 5/16" 18-8 Stainless Steel 5/16"-18 FL NT
Medium Split Lock Washer 188 Stainless Steel

Hardware Illustrations to Scale

~

© 2020 VIEWRAIL Al Rights Reserved - (866) 261-8013 - viewrail.com - For Helpful Tutorials go to www.youtube.com/viewrail 15



Standard Tread Exploded Connection

SRR LA

B e R R —

i

.

— o
Ay

AR

f—— .-

.
.

5/16" x 2 1/2" Wood Screw - Black Oxide Steel
Mounting Screw 2 1/2" - Case Hardened Carbon Steel

Hardware Illustrations to Scale

© 2020 VIEWRAIL Al Rights Reserved - (866) 261-8013 - viewrail.com - For Helpful Tutorials go to www.youtube.com/viewrail 16



Landing Exploded Connection

5/16" x 2 1/2" Wood Screw - Black Oxide Steel
Mounting Screw 2 1/2" - Case Hardened Carbon Steel

Hardware Illustrations to Scale

17

- (866) 261-8013 - viewrail.com - For Helpful Tutorials go to www.youtube.com/viewrall

© 2020 VIEWRAIL - All Rights Reserved



Tread Bracket Cover Exploded Connection

Dual Lock Re-closable Fastener Black - 1" x 1.5"

Hardware Illustrations to Scale

© 2020 VIEWRAIL Al Rights Reserved - (866) 261-8013 - viewrail.com - For Helpful Tutorials go to www.youtube.com/viewrail 18



